Homogenni soustavy linearnich diferencialnich rovnic

Reste soustavy i = Ay.
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Vysledky
1. y(x) = (e*(bx + ¢), **(2bx + b+ 2¢), e**(bx + a +¢)), a,b,c € R.
2. y(z) = (e7*(—25a + 6¢ + 6bx), e *(15a + 2bx + b+ 2¢), e *(a + 2bx + 2¢)), a,b,c € R.
3. y(z) = (—2a-€3,e - (ax? + bx + ¢), e - (—ax? — (2a + b)x —4a —b—c¢), a,b,c € R.
4. y(z) = ((a+ 3b)e®sinz + (3a — b)e® cos , (2a + b)e® sinx + (a — 2b)e® cos x + ce*® | (20 —
a)e®sinz + (2a + b)e® cos x + ce?), a,b,c € R.

S
5. y(z) = (e"(ba®+cax+d), e”(3b2® — £ (4b—c)x — 2b— 2c+3d), e (a+ba? 4+ cx+d), e*(3ba? —
5(2b—c)x — 2b— 3¢+ 3d), a,b,c,d € R,

6. y(z) = (*(cx +d),e*(cx — c+d),e* (ax +b),e*((a+ )z — 3a+ b+ d), a,b,c,d € R.

7. y(z) = (e"(acosz + bsinz) + ccosz + dsinz, se”((a + b) cosz + (b — a)sinz) + ccosz +
dsinz,e”(acosx + bsinz) + (¢ — d) cosz + (¢ + d) sinz, e*(acos x + bsinx)), a,b,c,d € R.



